Exemplar Problems
Determinants

-
13. If, then find values of x.

4—x 44+x 4+x
14+x 4—-x 4+x
44+x 4+x 4-x

Solution:

Given, |4-x 4+x 4+
4+x 4-x 4+xf=0
d+x 4+x 4-x

[Applying R, = R, + R, + R3] , we have

1‘12+x 12+x l2+.r1
= 4+x 4-x 4+xi=0

44+x 4+x 4-x
Now,
[Taking (12 + x) common from R}
1 1 I

= (I2+x)d4+x 4-x 4+x(=0
4+x 4+x 4-—x

Next,

[Applying C, =» C, - Csand C, — C, - ()
0 0 1

= (12+x)|0 -2x 4+ x|=0
2x 2x 4-x

=3 (12+x) (0-(-2xX2x)] =0

(12+x) (4x*)=0
Hence, x=-12,0




Given, |[4-y 4+ x 4+x|
4+x 4-x 4+x!=0
4+x 4+x 4—ﬂ

[Applying R, = R, + R, + R3] , we have

‘12+x 124x 12+x

=5 4+x 4-x 4+x(=0
4+x 4+x 4-x

Now,

[Taking (12 + x) common from R}
| 1 I

= (12+x)4+x 4-x 4+x=0
4+x 4+x 4-x

Next,

[Applying C, -» C, - Csand C, - C, - (]
0 0 1

—a (12+x)]0 -2x 4+ x|=0
I 2¢ 4=y

= (12+x)(0-(-2x)}2x)] =0

(12+x)(4x) =0
Hence, x=-12,0




